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Get the most from this book






Everyone has to decide their own revision strategy, but it is essential to review your work, learn it and test your understanding. These Revision Notes will help you to do that in a planned way, topic by topic. Use this book as the cornerstone of your revision and don’t hesitate to write in it — personalise your notes and check your progress by ticking off each section as you revise.




Track your progress


Use the revision planner on pages 4, 5 and 6 to plan your revision, topic by topic. Make a note when you have:




	
•  revised and understood a topic


	
•  tested yourself


	
•  practised the exam questions and gone online to check your answers and complete the quick quizzes.





You can also keep track of your revision by noting each topic heading in the book. You may find it helpful to add your own notes as you work through each topic.







Features to help you succeed
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Exam tips


Expert tips are given throughout the book to help you polish your exam technique in order to maximise your chances in the exam.


[image: ]












[image: ]


Typical mistakes


The authors identify the typical mistakes candidates make and explains how you can avoid them.
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Now test yourself


These short, knowledge-based questions provide the first step in testing your learning. Answers can be found online at www.hoddereducation.co.uk/myrevisionnotesdownloads
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Summaries


The summaries provide a quick-check bullet list for each topic.
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Making links


This feature identifies specific connections between topics and tells you how revising these will aid your exam answers.
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Exam skills


These summaries highlight how specific skills identified or applicable in that chapter can be applied to your exam answers.
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Exam practice


Practice exam questions are provided for each topic. Use them to consolidate your revision and practise your exam skills.
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Definitions and key words


Clear, concise definitions of essential key terms are provided where they first appear.


Key words from the specification are highlighted in bold throughout the book.
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Online


Go online to check your answers to the exam questions and try out the extra quick quizzes at www.hoddereducation.co.uk/myrevisionnotesdownloads
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Countdown to my exams
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6–8 weeks to go




	
•  Start by looking at the specification – make sure you know exactly what material you need to revise and the style of the examination. Use the revision planner on pages 4, 5 and 6 to familiarise yourself with the topics.


	
•  Organise your notes, making sure you have covered everything on the specification. The revision planner will help you to group your notes into topics.


	
•  Work out a realistic revision plan that will allow you time for relaxation. Set aside days and times for all the subjects that you need to study, and stick to your timetable.


	
•  Set yourself sensible targets. Break your revision down into focused sessions of around 40 minutes, divided by breaks. This book organises the basic facts into short, memorable sections to make revising easier.
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2–6 weeks to go




	
•  Read through the relevant sections of this book and refer to the exam tips, summaries, typical mistakes and key terms. Tick off the topics when you feel confident about them. Highlight those topics you find difficult and look at them again in detail.


	
•  Test your understanding of each topic by working through the ‘Now test yourself’ questions in the book. Look up the answers at the back of the book.


	
•  Make a note of any problem areas as you revise, and ask your teacher to go over these in class.


	
•  Look at past papers. They are one of the best ways to revise and practise your exam skills. Write or prepare planned answers to the exam practice questions provided in this book. Check your answers online and try out the extra quick quizzes at www.hoddereducation.co.uk/myrevisionnotesdownloads



	
•  Try different revision methods. For example, you can make notes using mind maps, spider diagrams or flash cards.


	
•  Track your progress using the revision planner and give yourself a reward when you have achieved your target.
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One week to go




	
•  Try to fit in at least one more timed practice of an entire past paper and seek feedback from your teacher, comparing your work closely with the mark scheme.


	
•  Check the revision planner to make sure you haven’t missed out any topics. Brush up on any areas of difficulty by talking them over with a friend or getting help from your teacher.


	
•  Attend any revision classes put on by your teacher. Remember, they are an expert at preparing people for examinations.
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The day before the examination




	
•  Flick through these Revision Notes for useful reminders, for example the exam tips, summaries, typical mistakes and key terms.


	
•  Check the time and place of your examination.


	
•  Make sure you have everything you need — extra pens and pencils, tissues, a watch, bottled water, sweets.


	
•  Allow some time to relax and have an early night to ensure you are fresh and alert for the exam.
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My exams


A-level Economics Paper 1


Date:.......................................


Time:.......................................


Location:...................................


A-level Economics Paper 2


Date:.......................................


Time:.......................................


Location:...................................


A-level Economics Paper 3


Date:.......................................


Time:.......................................


Location:...................................
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Introduction








Assessing A-level economics


As a student of economics it is important that you understand three things in relation to the A-level examinations:




	
•  the assessment objectives


	
•  the command words used


	
•  the nature of the examination papers.
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Assessment objectives




	
•  AO1: You should be able to demonstrate knowledge of terms, concepts, theories and models to show an understanding of the behaviour of economic agents and how they are affected by and respond to economic issues.


	
•  AO2: You must be able to apply your knowledge and understanding to various economic contexts to show how economic agents are affected by and respond to economic issues.


	
•  AO3: You must be able to analyse issues within economics, showing an understanding of their impact on economic agents.


	
•  AO4: You must be able to evaluate economic arguments and use qualitative and quantitative evidence to support informed judgements relating to economic issues.
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Command words


Familiarity with the relevant command words is important and helps you to avoid wasting time in the exam room, e.g. trying to evaluate when there is no requirement for it. The most frequently used command words used for the A-level papers, along with the number of marks for associated questions, are:




	
•  Calculate … (2 marks) Requires you to work out the value of something. A correct final answer, to the required degree of accuracy and with the correct units, will score the full 2 marks. Working is not required, although correct working can score 1 mark. (AO1, AO2)



	
•  Explain how the data show … (4 marks) Requires you to explain how specified data support a proposition. In general you will need to make two correct references to data and explain clearly how each of these support the proposition. (AO1, AO2, AO3)



	
•  With the help of a diagram explain … (9 marks) Requires you to produce one or two logical chains of explanation relating to an economic concept. You are expected to draw an appropriate diagram, which must be used to support your explanation. (AO1, AO2, AO3)



	
•  Use the extracts and your knowledge of economics to assess/evaluate/discuss … (25 marks) Requires you to demonstrate all four assessment objectives in producing a logical, analytical response to the question, along with supported evaluation throughout. In relation to a context, you will also need to make reference to the scenario. (AO1, AO2, AO3, AO4)



	
•  Explain how … (15 marks) Requires you to produce two or three logical chains of explanation relating to an economic concept. You may wish to draw one or two appropriate diagrams, which must be used to support your explanation. (AO1, AO2, AO3)



	
•  To what extent do the data suggest … (10 marks) In relation to a selection of data in Paper 3, explain how the data do or do not support a proposition. In general you must refer to all charts, tables etc. in a specific extract. You must also make an overall judgement as to whether the data do or do not support the proposition. You may also wish to comment on the limitations of the data provided. (AO1, AO2, AO3, AO4)



	
•  Recommend and justify … (25 marks) Requires you to demonstrate all four assessment objectives in producing a logical, analytical response to the question. You will also need to make reference to the scenario and make a clear recommendation which is justified. (AO1, AO2, AO3, AO4)











The A-level exam papers


The A-level Economics specification is examined by three equally weighted examination papers of 2 hours duration each sat at the end of the course. Each paper is therefore worth 33.3% of the overall assessment.




Paper 1 Markets and market failure (microeconomics)


80 marks – split into two sections


Section A: Data response questions, choice of one from two contexts


40 marks


Section B: Essay questions, choice of one from three


40 marks







Paper 2 National and international economy (macroeconomics)


80 marks – split into two sections


Section A: Data response questions, choice of one from two contexts


40 marks


Section B: Essay questions, choice of one from three


40 marks







Paper 3 Economic principles and issues (synoptic)


80 marks – split into two sections


Section A: 30 multiple choice questions


30 marks


Section B: Case study questions, consisting of:




	
•  a 10-mark data question


	
•  a 15-mark explanation question


	
•  a 25-mark essay with justified recommendation

50 marks


























1 Economic methodology and the economic problem







Economic methodology


Economics is the study of how the world’s scarce resources are allocated to competing uses to satisfy society’s wants.


As a social science, economics attempts to adopt a scientific methodology for observing the behaviour of individuals and groups, and then makes predictions based on these observations. For example, how many more units of a product might an individual buy if the price of that product is reduced by 25%?




Positive and normative economic statements




	
•  Positive economic statements are objective statements that can be tested against facts to be declared either true or false. They do not necessarily have to be true.


	
•  Normative economic statements are subjective opinions or value judgements that cannot be tested against facts. These often concern views about what individuals, firms or governments should do, based on people’s ethical, moral or political standpoint.


	
•  Economic policy often rests on normative judgements about the ‘right’ levels of, for example, taxes, minimum wages or the amount of government intervention in markets.
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Now test yourself




	
1  Which of the following would be classed as a normative economic statement?



	
A  An increase in price usually leads to a fall in the quantity demanded of a good.


	
B  The government should spend more money on improving public transport.


	
C  A reduction in income tax will lead to more people choosing to work.


	
D  An increase in price usually leads to a rise in the quantity supplied of a good.









Answers available online
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Typical mistake


A positive statement need not necessarily be factually true. It simply needs to be capable of being tested to be declared true or false.
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The nature and purpose of economic activity




Needs, wants and economic welfare


The main purpose of economic activity is to satisfy society’s needs and wants:




	
•  A need is something that humans require to survive, such as food, shelter and warmth.


	
•  A want is something not essential for survival but which people feel improves their standard of living, or economic welfare, e.g. a new car.





Economic welfare refers to the standard of living, or general well-being, of individuals in society. Satisfying society’s needs and wants in terms of material and non-material things leads, in general, to increased economic welfare. Increasing real gross domestic product (GDP) per capita is pursued in order for average living standards to increase, as this enables people to satisfy more of their needs and wants.
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Making links


There is debate about whether people feel genuinely happier simply by having more of their wants satisfied. The potential trade-off between economic growth and living standards is considered in terms of environmental externalities in Chapter 8 and as a macroeconomic concept in Chapter 9.
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Economic resources


A country’s economic resources are known as the four factors of production:




	
•  Capital: man-made physical equipment used to make other goods and services. This includes machinery and computer equipment.


	
•  Enterprise: entrepreneurs are individuals who take a business risk in combining the other three factors of production in order to produce a good or service.


	
•  Land: all naturally occurring resources such as minerals, the sea, fertile land and the environment. These can be further divided into renewable and non-renewable resources.


	
•  Labour: people involved in production, sometimes referred to as human capital.
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Typical mistake


Don’t confuse the term ‘capital’ with ‘money’ in economics. Money is classed as financial capital.
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Now test yourself




	
2  Which of the following would be classified as land by an economist?



	
A  A sewing machine


	
B  A taxi driver


	
C  Oil in the North Sea


	
D  A laptop computer









Answers available online
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Exam tip


The four factors of production can be memorised using the acronym CELL, standing for capital, enterprise, land and labour.
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Scarcity, choice and the allocation of resources




The basic economic problem


The basic economic problem is scarcity, i.e. that economic resources are limited relative to society’s wants. This means that choices must be made when deciding how to allocate these resources. In so doing, the three fundamental economic questions must be considered:




	
1  What to produce and in what quantities? Goods are usually divided into consumer goods and capital goods. Consumer goods are those that give satisfaction to consumers, such as a pizza. Capital goods are those used to produce other goods, such as machinery and IT equipment.


	
2  How should goods and services be produced? The basic production decision is between labour-intensive methods (where a high proportion of human capital is used compared to capital) or capital-intensive methods (the opposite).


	
3  To whom should goods and services be allocated? This choice affects the degrees of equity and equality in society. Decisions about who in society gets what will be determined by the prevailing economic system. Two extreme forms of economic system are:



	
•  The free market or capitalist economy. Decisions are made solely by the interactions of consumers and firms, with no government intervention.


	
•  The command or centrally planned economy. Decisions are made solely by the planning department of governments.
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Now test yourself




	
3  Why do individuals, firms and governments have to make choices about what to produce?


	
4  How might decisions about the three fundamental economic questions differ between a free market economy and a centrally planned economy?





Answers available online
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Opportunity cost


In making any choice regarding how to allocate scarce resources, something must be given up. This is the concept of opportunity cost, i.e. that scarce resources have competing uses. It means that when someone chooses one use, they must forgo the next best alternative use.
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Now test yourself




	
5  John bought a German saloon car for £10 000 two years ago. A new car would cost £13 000. He could sell his German saloon car for £8000. What is the present opportunity cost of keeping his car?



	
A  £10 000


	
B  £13 000


	
C  £3000


	
D  £8000









Answers available online
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Production possibility diagrams


A production possibility curve (PPC) is a diagram that depicts the maximum combinations of two goods that can be produced by an economy, assuming all resources are fully employed and used efficiently. Figure 1.1 shows a PPC.
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Figure 1.1 A production possibility curve (PPC)








Any point on the production possibility curve, e.g. X, Y or Z, implies that all factors of production are fully employed. An economy operating at point V must therefore be operating inefficiently, with unused resources, e.g. unemployed labour or idle machines.
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Exam tip


Production possibility diagrams may also be referred to as production possibility frontiers (PPFs) and production possibility boundaries (PPBs).
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Shifts of the PPC



Factors leading to shifts of the PPC, outwards or inwards, are driven by changes in the quantity and efficiency (quality) of the factors of production.




Factors causing an outward shift of the PPC




	
•  Technological improvements that lead to increased productivity of capital equipment.


	
•  Discovery of new resources, e.g. oil and gas.


	
•  Improvements in education and training that lead to a more productive workforce.


	
•  Changes that lead to an increase in working population, e.g. increases in immigration or a raised retirement age.










Factors causing an inward shift of the PPC




	
•  Disasters, such as earthquakes or floods, that devastate productive resources.


	
•  Wars.


	
•  Global warming/climate change, which may lead to loss of farmland, rising sea levels and more extreme weather.


	
•  A prolonged recession, which may lead to permanent loss of productive capacity if businesses close down and/or workers lose skills.













Using a PPC diagram to show opportunity cost




	
•  The PPC in Figure 1.2 shows the maximum combinations of consumer goods and capital goods that can be produced with a given set of factors of production.


	
•  The diagram shows the concept of opportunity cost – as more capital goods are produced, more consumer goods must be given up. An increase in the amount of capital goods from OM to OS leads to a loss of output of consumer goods from OL to OR.


	
•  A subsequent increase in production of capital goods from OS to OV leads to a proportionately larger fall in production of consumer goods from OR to OT.
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Figure 1.2 The production possibility curve and opportunity cost













Using a PPC diagram to show economic growth




	
•  Production possibility diagrams can also be used to show economic growth.


	
•  The PPC in Figure 1.3 again shows the maximum combinations of consumer goods and capital goods that can be produced with a given set of factors of production. We will assume that the economy is producing at point A on the current PPC.


	
•  An improvement in technology, or any of the factors that lead to an outward shift of the PPC, means that there has been an increase in the productive capacity of the economy. This will lead to the entire PPC shifting outwards. Production at point E is now possible, leading to increased potential output of both capital goods and consumer goods.
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Figure 1.3 The production possibility curve and economic growth
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Typical mistake


A movement from point X to point A is short-run, not long-run economic growth. It shows an economy making fuller use of its existing, previously unemployed, resources.
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Economic efficiency and production possibility diagrams


The two main types of economic efficiency are productive efficiency and allocative efficiency.


Productive efficiency is concerned with how well society uses its scarce resources to maximise outputs of goods and services. At the level of a whole economy, productive efficiency occurs when maximum output is produced from the available factors of production, which would be at any point on the PPC.


By definition then, any point that lies inside the PPC is productively inefficient. The concepts of productive efficiency and productive inefficiency are shown in the PPC diagram in Figure 1.4.
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Figure 1.4 Productive efficiency and the PPC








Allocative efficiency exists when an economy’s factors of production are used to produce the combination of goods and services that maximises society’s welfare. The PPC shows all possible efficient combinations of goods and services that can be produced but does not specify an allocatively efficient point.


The allocatively efficient point on the PPC is the one that best reflects society’s preferences for particular goods and services.
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Exam tip


Learn how to draw PPC diagrams to illustrate efficiency, scarcity, choice and opportunity cost at the microeconomic level as well as economic growth, full employment and unemployment at a macroeconomic level.
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Now test yourself




	
6  With reference to the figure:



	
a)  What is the significance of point Z?


	
b)  Explain why points A and B can be considered productively efficient.


	
c)  How might point Y be achieved in the future?


	
d)  Explain how the diagram can be used to show the concept of opportunity cost.







	
7  Explain the effect on a PPC of the following:



	
a)  improvements in soil fertility resulting from the use of chemicals


	
b)  a decrease in population size due to falling birth rates


	
c)  technological improvements in capital equipment


	
d)  increased government spending on education and training
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A PPC diagram








Answers available online
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Exam skills


This chapter covers many of the fundamental concepts in economics. Students often neglect to review these concepts over the two years of their A-level course, not realising that they underpin so many others, in both micro- and macroeconomics. Make sure you understand, for example:




	
•  how the concept of opportunity cost can be applied to decision making at the level of the individual, firm and government


	
•  how the quantity and efficiency of the four factors of production affect the productive potential of an economy and therefore influence long-run economic growth


	
•  how decisions about the ‘best’ way to tackle economic issues often rest on normative views.
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Exam practice




	
1  Which statement is true?



	
A  A positive economic statement never contains words such as ‘should’ or ‘ought to’.


	
B  A positive economic statement is one that can be tested against the facts.


	
C  A normative statement never contains words such as ‘will’ or ‘does’.


	
D  A normative statement can be scientifically proven.

[1]









	
2  Scarcity in an economy means that:



	
A  there is a misallocation of resources


	
B  all goods have zero opportunity cost


	
C  people must make choices


	
D  it is not possible to maximise economic welfare

[1]









	
3  When money is used as a medium of exchange:



	
A  trade is likely to increase


	
B  specialisation and the division of labour are impossible


	
C  barter becomes more widespread


	
D  prices must increase

[1]









	
4  Which of the following is a factor of production?



	
A  a loan from a bank


	
B  profits made by businesses


	
C  labour productivity


	
D  a computer

[1]









	
5  The diagram below shows an economy’s production possibility curve.

Which of the following combinations of consumer goods and capital goods is achievable with the current factors of production?




	
A  only A


	
B  only B and C


	
C  A, B, C and D


	
D  only A, B and C

[1]









[image: ]



A PPC diagram













Answers and quick quiz 1 online
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Summary


You should have an understanding of:




	
•  the meaning of the term ‘economics’


	
•  basic economic methodology


	
•  the nature and purpose of economic activity


	
•  the difference between needs and wants


	
•  positive and normative economic statements


	
•  the meaning of scarcity and how this leads to choices having to be made


	
•  the four key factors of production: capital, enterprise, land and labour


	
•  the difference between consumer goods and capital goods


	
•  the concept of opportunity cost and its significance for individuals, firms and governments


	
•  production possibility curves and how to draw them correctly


	
•  how to use PPCs to illustrate opportunity cost, efficiency and economic growth.
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2 Individual economic decision making







Consumer behaviour




Rational economic decision making and economic incentives


Traditional, neoclassical economic theory assumes that consumers always act rationally, seeking to maximise satisfaction for every pound spent on each product they buy.







Utility theory




Utility and utility maximisation


Utility is the amount of satisfaction or benefit that a consumer gains from consuming a good or service.


We assume that:




	
•  individual consumers try to place a value on a good or service equal to the satisfaction they perceive it will bring. They may try to give this an actual monetary value, e.g. £5


	
•  consumers aim to maximise utility per pound spent and so will compare their perceived satisfaction with the price of the good or service


	
•  rational consumers will consume a good or service only if the perceived satisfaction is greater than, or equal to, the price.
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Now test yourself




	
1  A rational consumer will always try to:



	
A  spend all of their income


	
B  maximise their earnings


	
C  take the views of others into account


	
D  maximise their total utility









Answers available online
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Marginal utility


Marginal utility is the satisfaction gained from consuming an additional unit of a good or service. Table 2.1 shows what happens to marginal utility when an individual consumer buys more of a good or service, such as a cup of coffee.


Table 2.1








	Number of units

	Total utility

	Marginal utility










	1


	  8


	8







	2


	15


	7







	3


	20


	5







	4


	23


	3







	5


	24


	1










In Table 2.1, the total utility from consuming additional cups of coffee continues to increase, up to a value of 24 at 5 units, but the marginal utility from consuming additional cups falls, down to 1 for the fifth cup.
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Making links


The concept of the margin and marginal analysis underpins many ideas in A-level microeconomics. We will return to it many times throughout this book.
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Exam tips


In reality it is likely that individual consumers’ perceptions of utility differ between quantities of different products, but this does not necessarily undermine the theory.


Sources of imperfect and asymmetric information challenge traditional assumptions of economics regarding rational consumer behaviour.
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Diminishing marginal utility


As illustrated in Table 2.1, when individuals consume more units of a good or service, the additional units give successively smaller increases in total satisfaction. This is the concept of diminishing marginal utility. For example, once an individual consumer has drunk their first cup of coffee, their thirst or need for a boost of energy will largely have been satisfied, so that additional cups do little extra to satisfy these requirements.
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Now test yourself




	
2  Explain the concept of diminishing marginal utility, using chocolate bars as an example.





Answers available online
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The concept of diminishing marginal utility is a way of deriving an individual’s downward-sloping demand curve for a good or service, as shown in Figure 2.1.
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Figure 2.1 Diminishing marginal utility and the individual demand curve








For the first units of a good or service in Figure 2.1, an individual is happy to pay a relatively high price. The individual is prepared to pay £9 for the third unit but only £6 for the sixth unit and £3 for the ninth unit. As marginal utility declines, the price the consumer is willing to pay for additional units decreases.
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Making links


The concept of the margin and marginal analysis underpins many ideas in A-level microeconomics. We will return to it many times throughout this book.
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Now test yourself




	
3  What is the marginal utility to a consumer from the fifth pancake?



	
A  60


	
B  40


	
C  30


	
D  0















	Quantity of pancakes


	Total utility











	3


	200







	4


	260







	5


	300







	6


	330







	7


	330










Answers available online
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Imperfect information



The field of behavioural economics recognises that humans are unlikely to always act rationally in the face of every decision they make. One reason for this is that consumers face imperfect information. This means that they rarely possess all of the information required to make fully informed decisions. Imperfect information makes it difficult for economic agents to make rational decisions and is a potential source of market failure.




Sources of imperfect information




	
•  Economic agents can be faced with too little information or too much information, or find themselves knowing more or less information than other parties to a transaction.


	
•  Information can also be presented in such a way as to exclude some people and be meaningful to others, e.g. technical or legal jargon.


	
•  There can be costs involved in acquiring information, which deters people from doing so, e.g. house surveys or mechanical checks on cars.
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Making links


Imperfect information can lead to a misallocation of resources in the case of merit and demerit goods, which are explored in Chapter 8.
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Asymmetric information


Asymmetric information is a form of imperfect information when one party (usually the seller) has more/superior information than another (usually the buyer). Examples include:




	
•  the market for so-called ‘lemons’, where a second-hand car salesperson knows more about the quality of a car they are selling than the buyer does


	
•  where an individual may know more about their creditworthiness than the bank from which they are attempting to secure a loan.





Both examples lead to an imbalance of power, where one party can exploit the other, resulting in market failure. Uncertainty also leads to a lack of trust between agents, which may mean that a mutually beneficial exchange does not occur.
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Now test yourself




	
4  Explain two reasons why consumers may not possess all the relevant information required to make a fully informed decision about buying healthy food.





Answers available online
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Aspects of behavioural economic theory


Behavioural economics is a relatively modern field of economic theory that recognises the social, moral and psychological factors that determine the behaviour of economic agents. It differs from traditional economic theory as it questions the assumption of individuals as rational decision makers. People may therefore not behave as traditional textbooks suggest.





Bounded rationality


Bounded rationality is the idea that people may try to behave rationally, but their ability to do so is severely restricted, for three main reasons:




	
•  The human mind has limited ability to process and evaluate information.


	
•  The available information is incomplete and often unreliable (and rapidly out of date).


	
•  The time available to make decisions is limited.





Therefore, even with the best intentions, individuals end up ‘satisficing’, or accepting suboptimal outcomes.







Bounded self-control


Bounded self-control is when individuals have good intentions but lack the self-discipline to see them through, e.g. regular gym attendance, giving up smoking or saving for the future.


As a result of bounded rationality and bounded self-control, people are therefore ‘predictably irrational’ – a term coined by leading behavioural economist Dan Ariely, demonstrating predictable biases in decision making.
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Now test yourself




	
5  Which of the following is not a reason for bounded rationality in individual decision making?



	
A  too much information for the human mind to process


	
B  incomplete and unreliable information


	
C  limited time to make decisions


	
D  up-to-date information









Answers available online
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Rules of thumb


Sometimes known as heuristics, rules of thumb are ‘thinking shortcuts’ individuals use to make decisions, given the problems of bounded rationality. For example, consumers may choose the same hot drink in a coffee shop each time they visit because they have enjoyed it previously. This saves the consumer the time and effort of having to make comparisons on every visit.







Anchoring


Anchoring is the tendency of individuals to rely on particular pieces of information, especially in situations where they lack knowledge or experience. For example, a consumer choosing between car insurance premiums online may focus on price as the key point of comparison rather than the features, excesses and exclusions of individual policies.







Availability


Availability bias occurs when people make judgements about the probability of events by recalling recent instances, e.g. rushing out to buy barbecues and sun cream on the first sunny day of the year. Availability serves as a mental shortcut if an example comes to mind easily, e.g. recalling a family member who lost their retirement savings in the last recession, therefore discouraging personal saving.








Social norms




	
•  The concept of social norms recognises the influence of others on individual decision making, e.g. encouraging passengers to put pressure on drivers not to drive too fast or under the influence of alcohol.


	
•  Social norms link strongly into economic policies that use knowledge of behavioural economics concerning, for example, the wearing of seatbelts, reducing smoking in public places and using mobile phones while driving.


	
•  Social norms can be used to increase charitable donations – hence examples of donations on telethons such as Children in Need and Comic Relief.










Altruism and fairness




	
•  The biases of altruism and fairness mean that people are motivated to ‘do the right thing’. Giving to charity, doing voluntary work or paying extra to support fair trade initiatives may be seen as irrational in traditional, neoclassical economic theory.


	
•  However, individual consumers can gain a genuine sense of satisfaction and extra utility from acting in these ways. Critics of altruism and fairness argue that people simply fear ‘being judged’, especially in a world where information flows freely, e.g. via social media.
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Now test yourself




	
6  Which of the following is not a bias in individual decision making?



	
A  altruism


	
B  anchoring


	
C  marginal utility


	
D  availability









Answers available online
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Behavioural economics and economic policy


Insights provided by behavioural economic theory can help governments and other agencies devise policies that more effectively influence economic decisions. This may involve influencing the ways in which individuals’ choices are ‘framed’ as well as ‘nudging’ people towards more desirable courses of action.
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Making links


Policies that take behavioural economics into account can be used alongside more mainstream policies, such as indirect taxation and regulation, to help achieve more desirable outcomes for society. See Chapter 8 for further detail.
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Exam tip


There are now many interesting, accessible books written on the subject of behavioural economics. Ask your teacher for recommendations.
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Choice architecture


Choice architecture refers to how choices may be influenced by the way they are presented to the decision maker, in order to achieve desired outcomes. For example, countries with governments that require people to opt out of organ donation generally have a significantly higher percentage of the population willing to donate than countries where people are required to opt in.








Framing


Framing is a form of choice architecture that influences choices by the way words and numbers are used, e.g. presenting life insurance premium payments as ‘less than £3 per day’ sounds more palatable than £1000 per year. Gym membership adverts often use clever framing.







Nudges




	
•  Nudges are another form of choice architecture that aim to influence consumer behaviour via the use of gentle suggestions and positive reinforcement, such as the ‘five-a-day’ campaign to encourage greater consumption of fruit and vegetables.


	
•  Nudges can change people’s behaviour in a socially desirable manner without taking away freedom of choice.


	
•  They can be a more cost-effective alternative to the use of laws, bans or regulation and can complement traditional policy methods. For example, seatbelt laws are costly to enforce, but using adverts to reinforce a social norm means this issue now needs little enforcement.
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Now test yourself




	
7  Explain how individuals could be ‘nudged’ towards making more desirable decisions with regard to healthy food choices.





Answers available online
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Default choice


Default choices are an additional form of choice architecture that set socially desirable choices as the default option, making it an effort to choose otherwise, e.g. for organ donation and pension enrolment. In each case, the default choice would be to opt in and so individuals would have to actively elect to opt out. The use of default choices in each case has led to significant increases in opt-in rates.







Mandated choice


Mandated choice is a stronger form of choice architecture where people are required by law to make a choice. For example, in many countries people are required to make a decision about organ donation as part of their driving licence or passport application.







Restricted choice


Restricted choice is another way of influencing people’s choices, recognising that too much choice can sometimes ‘paralyse’ individuals from making an effective choice, for example with savings or pensions. Therefore, giving a limited number of options may be better.






[image: ]


Now test yourself




	
8  Which of the following would be considered a form of choice architecture?



	
A  giving consumers an unlimited choice of options


	
B  clearly illustrating the full annual cost of health insurance


	
C  giving consumers extensive nutritional information on food packaging


	
D  giving consumers a limited choice of options









Answers available online
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Exam skills


This chapter covers the traditional assumptions of rational economic decision making as well as the relatively new area of behavioural economic theory. Ensure you can recall all of the decision-making biases covered in this chapter and the ways in which an understanding of behavioural economics can help governments and other agencies bring about socially desirable outcomes. You will then be well-placed to tackle questions covering the following:




	
•  the concept of diminishing marginal utility


	
•  the main ways in which behavioural economics differs from traditional assumptions about individual decision making


	
•  the reasons why individuals consume too much, or too little, of certain goods and services


	
•  how insights from behavioural economics can complement more ‘standard’ policies used by governments to bring about socially desirable outcomes.
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Exam practice




	
1  A traditional economic assumption about consumer behaviour is:



	
A  bounded rationality


	
B  asymmetric information


	
C  utility maximisation


	
D  altruism

[1]









	
2  What is the marginal utility to a consumer from the fourth packet of crisps?



	
A  160


	
B  140


	
C  100


	
D  60











	Quantity of packets of crisps

	Total utility











	1


	100







	2


	260







	3


	400







	4


	500







	5


	560










[1]




	
3  Economic policy that takes behavioural theory into account is least likely to involve:



	
A  obliging consumers by law to opt in or out of a programme or scheme


	
B  taking account of consumer altruism


	
C  giving consumers a limited range of preselected options


	
D  setting out all possible options

[1]









	
4  With the help of a diagram, explain how the availability bias might lead to individuals overestimating their requirement for snow-clearing equipment following a snowy winter.

[9]




	
5  With the help of a diagram, explain how mandating choices towards pension opt-in might influence the market towards more desirable outcomes.

[9]




	
6  Evaluate the effectiveness of policies that take account of behavioural economics in attempting to resolve market failures.

[25]







Answers and quick quiz 2 online
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Summary


You should have an understanding of:




	
•  the assumptions of traditional, neoclassical economics regarding rational decision making


	
•  how consumers make rational decisions about how much of various products to consume on the basis of utility theory and the hypothesis of diminishing marginal utility


	
•  how, in reality, consumers are faced with imperfect information when making decisions


	
•  the significance of asymmetric information


	
•  how behavioural economic theory challenges the fundamental assumption of traditional economic theory of consumer rationality


	
•  the meaning of bounded rationality and bounded self-control


	
•  some key biases in decision making: rules of thumb, anchoring, availability and social norms


	
•  how altruism and perceptions of fairness influence consumer decisions


	
•  how insights provided by behavioural economists can help governments and other agencies influence economic decision making


	
•  the meaning and examples of choice architecture, framing, nudges, default choices, restricted choice and mandated choice.
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3 Price determination in a competitive market







The meaning of a competitive market


A market is a situation in which buyers and sellers come together to engage in trade. A market does not have to occur in a physical location, with e-commerce now playing an increasingly important role in the exchange of goods and services. A competitive market occurs when there are a large number of potential buyers and sellers, all individually powerless to influence the ruling market price. This price, known as the equilibrium price, is determined by the interaction of market demand and market supply.
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Making links


Competitive and uncompetitive markets are both covered in more detail in Chapters 4 and 5. As you will see, the slope of the demand curve differs between market structures, linked to firms’ ability to set prices in their respective markets.
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The determinants of the demand for goods and services


Demand refers to the quantity of a good or service that consumers are willing and able to buy at given prices in a particular time period. Economists are concerned with effective demand, i.e. desire for a product backed up by the ability to pay, rather than an unfulfilled want.




The law of demand and the shape of the market demand curve


The law of demand states that as the price of a good or service falls, the quantity demanded increases. This inverse relationship between the price and quantity demanded of a good or service is shown in Figure 3.1.
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Figure 3.1 Movements along a demand curve








In analysing the effect of a change in price on quantity demanded, we usually assume that all other possible determinants of demand are held constant. Economists refer to this ªssumption as ‘ceteris paribus’. An increase in the quantity demanded resulting from a fall in price is known as an extension of demand, whereas a fall in quantity demanded resulting from an increase in price is known as a contraction of demand.







Shifts of a demand curve


Factors that may lead to a shift in the position of the demand curve are referred to as the conditions of demand.


These include:




	
•  Real disposable incomes: the incomes of individuals after the effects of inflation, taxation and benefits are taken into account.


	
•  Tastes and preferences (fashions): the popularity of goods and services is often influenced by changes in society’s preferences and may be influenced by the media, advertising and technological change.


	
•  Population: the size, age and gender composition of the population will affect the market size for many products.


	
•  Prices of substitute products: substitute products are those in competitive demand that may be seen as close alternatives to a particular good or service.


	
•  Prices of complementary products: complementary products are those in joint demand, i.e. demanded together with other goods or services.
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Exam tip


Do not confuse a movement along a demand curve with a shift of the whole demand curve. The only variable that leads to a movement along a given demand curve is a change in price of that good or service. Changes in other factors, such as real disposable incomes and consumer tastes, lead to a rightward or leftward shift of a demand curve.
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If any of these factors change, then the demand curve for the good or service in question will change. This leads to either a rightward or a leftward shift of the demand curve, as shown in Figure 3.2. A rightward shift is known as an increase in demand, whereas a leftward shift is known as a decrease in demand. A rightward shift means that a greater quantity of a good or service is demanded at any given price, whereas a leftward shift means that a lower quantity of a good or service is demanded at any given price.
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Figure 3.2 Shifts of the demand curve
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Now test yourself




	
1  What would be the effect of the following on demand for cars in the UK?



	
a)  an increase in petrol prices


	
b)  a decrease in car parking fees


	
c)  a fall in rail fares


	
d)  an increase in fuel efficiency of cars









Answers available online
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Price, income and cross elasticities of demand





Price elasticity of demand (PED)


Price elasticity of demand refers to the responsiveness of the quantity demanded of a good or service to a change in its price.


The formula is stated as:
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Apart from a few cases, the value for price elasticity of demand is negative because of the assumed inverse relationship between price and quantity demanded. In practice, the minus sign tends to be ignored when presenting the result of any calculation.
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Exam tip


It is worth memorising the percentage change formula as you will be required to use it frequently.
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Key values and diagrams




Price inelastic demand


When demand for a product is price inelastic, the value of PED is between 0 and 1, ignoring the minus sign.


Example: a 50% increase in the price of petrol leads to a 10% fall in quantity demanded. So:




[image: ]




The change in price has led to a smaller percentage change in the quantity demanded.







Price elastic demand


When demand for a product is price elastic, the value of PED is greater than 1, ignoring the minus sign.


Example: a 10% reduction in the price of cars leads to a 15% increase in quantity demanded. So:
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The change in price has led to a larger percentage change in the quantity demanded.


Figure 3.3 illustrates an inelastic and elastic section of a demand curve.
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Figure 3.3 An inelastic and an elastic section of a demand curve
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Making links


The concept of price elasticity of demand is important for governments wishing to maximise revenue from placing a tax on goods and services, as well as in reducing consumption of certain products. Price elasticity of demand for the UK’s imports and exports also determines how the current account of the balance of payments responds to changes in exchange rates.
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Unitary elastic demand



When demand is unitary elastic, the value of PED is exactly 1, ignoring the minus sign. The demand curve is a rectangular hyperbola, as shown in Figure 3.4.


Example: a 20% increase in the price of a mobile phone leads to a 20% decrease in quantity demanded. So:
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The change in price has led to the same percentage change in quantity demanded.







Perfectly inelastic demand


When demand for a product is perfectly price inelastic, the value of PED is 0. The demand curve will be vertical, as shown in Figure 3.4.


Example: a 10% increase in the price of a carton of milk leads to no change in quantity demanded. So:
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The change in price has led to no change in quantity demanded.







Perfectly elastic demand


When demand is perfectly elastic, the value of PED is infinity. The demand curve will be horizontal, as shown in Figure 3.4.


Example: an extremely small increase in the price of a product leads to the quantity demanded falling to zero.


The change in price has led to an infinitely large change in quantity demanded.
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Figure 3.4 Demand curves showing unitary elasticity, perfectly inelastic demand and perfectly elastic demand
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Worked example


Calculate the price elasticity of demand of pasta if a rise in the price from £1.80 to £2.20 per kilogram leads to a fall in quantity demanded from 6 million to 5.5 million kilograms per week. Comment briefly on your answer.




	
1  [image: ]



	
2  [image: ]



	
3  [image: ]



	
4  Pasta is inelastic in this case.
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Now test yourself




	
2  Calculate the price elasticity of demand in the following examples and comment briefly on your results:



	
a)  A rise in the price of petrol from 100p to 120p per litre leads to a fall in quantity demanded from 50 to 45 litres per week.


	
b)  A fall in the price of games consoles from £250 to £200 leads to a rise in quantity demanded from 100 to 150 per day.


	
c)  A rise in the price of racing bicycles from £2400 to £2640 leads to a reduction in quantity demanded from 60 to 40 per month.









Answers available online
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Price elasticity of demand and total revenue


The price elasticity of demand of a product determines what happens to consumer spending (and, therefore, total revenue) following a price change.




	
•  If demand is price elastic, a reduction in price leads to an increase in total revenue.


	
•  If demand is price inelastic, a reduction in price leads to a decrease in total revenue.


	
•  If demand is price elastic, a price increase leads to a reduction in total revenue.


	
•  If demand is price inelastic, a price increase leads to an increase in total revenue.
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Now test yourself




	
3  The initial price of tea bags is £1.50 per box and quantity demanded is 3000 boxes per week. In a sales promotion the price is reduced to £1.20 per box and the quantity demanded becomes 3300 per week as a result. Calculate both the change in total revenue and the price elasticity of demand.


	
4  If demand for holidays to the Maldives is price elastic, what will happen to total revenue if holiday companies increase their prices for holidays to this destination?


	
5  If an increase in the price of milk leads to a rise in total revenue, what can be concluded about price elasticity of demand?





Answers available online
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Determinants of price elasticity of demand




	
•  Availability of close substitutes: if a very close substitute exists for a product, an increase in its price will lead to consumers buying more of the substitute. If one or more close substitutes exist, this will tend to make demand for the product price elastic. If there are few close substitutes, demand will be more inelastic.


	
•  Percentage of income spent on the product: if a product accounts for a relatively large percentage of a consumer’s income, such as a new car, a change in price of, say, 50% is likely to have a significant impact on disposable income. Therefore, demand for such products will tend to be price elastic. However, the same proportional price change for a relatively inexpensive product, such as a loaf of bread, will not have the same overall impact on disposable income and so consumers are likely to be less sensitive to changes in price. Therefore, demand for such products will tend to be price inelastic.


	
•  Nature of the product: if a product is seen as a necessity, or perhaps even has addictive qualities, demand will tend to be price inelastic as few alternatives will exist from the viewpoint of the consumer. However, if a product is seen as a luxury, i.e. something that a consumer can do without, demand will tend to be price elastic.


	
•  Time period: the longer the time period following a price change, the easier it is for a consumer to adjust their spending patterns or research alternatives, and for more alternatives to become available. In the very short run, motorists may feel obliged to pay whatever price they are charged per litre of fuel, and so demand will be more price inelastic. In the long run, motorists may be able to switch to alternative fuels or more fuel-efficient cars, use public transport or move closer to work. This will make demand for a product more price elastic in the long run.


	
•  Broad or specific market definition: a broad market category, e.g. food, is likely to have price inelastic demand, whereas a specific product in a market segment, e.g. baked beans produced by a particular firm, is likely to have more price elastic demand.













Income elasticity of demand (YED)


Income elasticity of demand measures the responsiveness of demand to a change in real income. The formula is:
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Key values


For YED the sign is important. If the value is positive, i.e. greater than 0, the product is a normal good. This means a rise in income will lead to an increase in demand. If the value is negative, i.e. less than 0, the product is an inferior good. This means a rise in income will lead to a fall in demand.




Income elastic demand


When demand for a product is income elastic, the value of YED is greater than +1.


Example: a 10% increase in real income leads to a 20% increase in demand for foreign holidays. So:
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The increase in real income has led to a greater percentage increase in demand. Income elastic products are often referred to as luxury goods.







Income inelastic demand


When demand for a product is income inelastic, the value of YED is between 0 and +1.


Example: a 10% increase in real income leads to a 2% increase in demand for cartons of milk. So:




[image: ]




The increase in real income has led to a smaller percentage increase in demand. Income inelastic products are often referred to as basic goods or necessities.







Negative income elasticity


When demand for a product is negative income elastic, the value of YED is negative, i.e. less than 0.


Example: a 20% increase in real income leads to a 10% fall in demand for a supermarket’s value brand of baked beans. So:
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The increase in income has led to a fall in demand. Negative income elastic products are referred to as inferior goods.
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Now test yourself




	
6  In each of the following cases, calculate the income elasticity of demand and comment on your answer:



	
a)  A 7% increase in real income causes a 21% fall in demand for a supermarket’s own brand of chocolate biscuits.


	
b)  A 10% increase in real income causes a 25% increase in demand for holidays to Barbados.


	
c)  An 8% fall in real income leads to a 32% fall in demand for fillet steak.









Answers available online
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Cross elasticity of demand (XED)


Cross elasticity of demand measures the responsiveness of the demand for a product following a change in price of another product.


The formula is:
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Key values


For XED the sign is again important.


A positive value indicates that products A and B are substitutes, i.e. a rise in the price of product B leads to an increase in demand for product A.


A negative value indicates that products A and B are complements, i.e. a rise in the price of product B leads to a fall in demand for product A.


Example: a 20% increase in the price of cod leads to a 10% fall in demand for chips. So:
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The two products are therefore complements.
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Now test yourself




	
7  In each of the following cases, calculate the cross elasticity of demand and comment on your answer:



	
a)  A 20% rise in the price of butter leads to a 15% rise in demand for margarine.


	
b)  A 10% rise in the price of strawberries leads to an 8% fall in demand for fresh cream.









Answers available online
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The determinants of the supply of goods and services


Supply refers to the quantity of a good or service that firms plan to sell at given prices in a particular time period.




The law of supply


The law of supply states that as price increases the quantity supplied will increase. This positive relationship is shown in Figure 3.5. Firms are assumed to want to maximise their profits and so a higher price gives an incentive for firms to increase production.


As with demand, a change in price will lead to a movement along an existing supply curve. An increase in price will lead to an increase in quantity supplied, known as an extension in supply. Conversely, a decrease in price will lead to a decrease in quantity supplied, known as a contraction in supply.
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Figure 3.5 Movements along a supply curve













Shifts of a supply curve


Several non-price factors may lead to a shift of the supply curve. These are known as the conditions of supply:




	
•  Production costs: these include wage costs, raw material costs, energy costs, building rent and interest on borrowing.


	
•  Productivity of labour: this refers to the output per worker per hour. This can be affected by the amount of training offered and the quality of capital equipment used by workers.


	
•  Taxes on businesses: these include excise duties, VAT and business rates.


	
•  Production subsidies: these are government grants to firms to encourage greater production.


	
•  Technology: improvements in technology may lead to increased productivity of firms.





If any of these factors change, the supply curve for the good or service in question will also change. This leads to either a rightward or leftward shift of the supply curve as shown in Figure 3.6. A rightward shift is known as an increase in supply, whereas a leftward shift is known as a decrease in supply. A rightward shift means that a greater quantity of a good or service is supplied at any given price, whereas a leftward shift means that a lower quantity of a good or service is supplied at any given price.
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Figure 3.6 Shifts of a supply curve

















Price elasticity of supply (PES)



Price elasticity of supply measures the responsiveness of the quantity supplied of a good or service to a change in price.


The formula is:
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Key values and diagrams


Price elasticity of supply will always have a positive value because of the direct relationship between price and quantity supplied.




Price inelastic supply


When supply is price inelastic, the value of PES is between 0 and 1.


Example: a 20% increase in the price of barley leads to a 5% increase in quantity supplied. So:





OEBPS/OEBPS/images/18-1.png
Quantity

9





OEBPS/OEBPS/images/cover.jpg
MY
REVISION
NOTES

HODDER
EDUCATION

MY REVISION NOTES

AQA A-level
ECONOMICS

AQA

A-level

ECONOMICS

THIRD EDITION

+ Plan and organise your revision
+ Reinforce skills and understanding
+ Practise exam-style questions

David Homer
Steve Stoddard

T {y HODDER
Boost EDUCATION

LEARN MORE






OEBPS/OEBPS/images/30-1.png
XED = Percentage change in quantity demanded of product A

Dercentage change in price of product B





OEBPS/OEBPS/images/copy.png
MIX
Paper from

responslble sources
Emﬁg FSC™ C104740






OEBPS/OEBPS/images/13-1.png
spoob
JBUWINSUOY

Capital

goods





OEBPS/OEBPS/images/14-1.png
spoob
JBWINSUOY

Capital goods





OEBPS/OEBPS/images/14-2.png
Consumer goods

All points on the PPC,
including A and B, are

/ productively efficient

Al points inside the
curve, including Z,
are productively
inefficient |

The economy’s
production
possibility
curve (PPC)

Kz Ki X
Capital goods





OEBPS/OEBPS/images/15-1.png
L

spoob
T





OEBPS/OEBPS/images/26-2a.png
Percentage change =

change
————————x100
original value





OEBPS/OEBPS/images/15-2.png
BN e

Capital goods





OEBPS/OEBPS/images/31-2.png
Price per unit (£)

Decrease in supply

ncrease in supply

Quantity supplied





OEBPS/OEBPS/images/32-1.png
ppg — Pereentage change in quantity supplied

percentage change in price





OEBPS/OEBPS/images/30-2.png





OEBPS/OEBPS/images/31-1.png
Supply
curve

Price per unit (£)

Extension in supply
5t

Cdntraction in supply

Q Q,
Quantity supplied





OEBPS/OEBPS/images/12-1.png
$p00B JAWNSUOY

Capital goods





OEBPS/OEBPS/images/27-6.png
PED =037

T n o





OEBPS/OEBPS/images/29-4.png
YED =" =—0.5
0





OEBPS/nav.xhtml




Contents





		Cover



		Title Page



		Copyright



		Get the most from this book



		My revision planner



		Introduction



		Paper 1 Markets and market failure



		1 Economic methodology and the economic problem



		Economic methodology



		The nature and purpose of economic activity



		Economic resources



		Scarcity, choice and the allocation of resources









		2 Individual economic decision making



		Consumer behaviour



		Imperfect information



		Aspects of behavioural economic theory



		Behavioural economics and economic policy









		3 Price determination in a competitive market



		The meaning of a competitive market



		The determinants of the demand for goods and services



		Price, income and cross elasticities of demand



		The determinants of the supply of goods and services



		Price elasticity of supply (PES)



		The determination of equilibrium market prices



		The interrelationship between markets









		4 Production, costs and revenue



		Production and productivity



		Specialisation, division of labour and exchange



		Costs of production



		The law of diminishing returns and returns to scale



		Costs of production in the long run



		Economies and diseconomies of scale



		Average revenue, total revenue and profit



		Market structure and marginal and average revenue



		Technological change









		5 Perfect competition, imperfectly competitive markets and monopoly



		Market structures



		The objectives of firms



		Perfect competition



		Monopolistic competition



		Oligopoly



		Monopoly and monopoly power



		Price discrimination, consumer and producer surplus



		The competitive market process



		Contestable and non-contestable markets



		Market structure, static efficiency, dynamic efficiency and resource allocation









		6 The labour market



		The demand for labour



		Influences on the supply of labour to different markets



		Wage differentials



		The determination of relative wage rates and levels of employment in perfectly competitive labour markets



		The determination of relative wage rates and levels of employment in imperfectly competitive labour markets



		The influence of trade unions in determining wages and levels of employment



		The National Minimum Wage (NMW)



		Discrimination in the labour market









		7 The distribution of income and wealth: poverty and inequality



		The distribution of income and wealth



		The problem of poverty



		Government policies to alleviate poverty and to influence the distribution of income and wealth









		8 The market mechanism, market failure and government intervention in markets



		How markets and prices allocate resources



		The meaning of market failure



		Public goods, private goods and quasi-public goods



		Externalities



		Marginal analysis of externalities for A-level



		Environmental market failure and the tragedy of the commons



		Merit and demerit goods



		Market imperfections



		An inequitable distribution of income and wealth



		Government intervention in markets



		Competition policy



		Public ownership, privatisation, regulation and deregulation of markets



		Government failure















		Paper 2 National and international economy



		9 The measurement of macroeconomic performance



		The objectives of government economic policy



		Macroeconomic indicators



		Uses of national income data



		Evaluation of GDP data in determining living standards









		10 How the macroeconomy works



		The circular flow of income



		Aggregate demand and aggregate supply



		Aggregate demand and aggregate supply analysis









		11 Economic performance



		Economic growth



		Employment and unemployment



		Inflation and deflation



		Possible conflicts between macroeconomic policy objectives









		12 Financial markets and monetary policy



		The structure of financial markets and financial assets



		Commercial banks and investment banks



		Central banks and monetary policy



		Monetary policy



		The regulation of the financial system









		13 Fiscal and supply-side policies



		Fiscal policy



		Supply-side policies









		14 The international economy



		Globalisation



		Trade



		The balance of payments



		Exchange rate systems



		Economic growth and development















		Glossary











Guide





		Cover



		Title Page



		Copyright



		My revision planner











Pages





		Cover



		1



		2



		3



		4



		5



		6



		7



		8



		9



		10



		11



		12



		13



		14



		15



		16



		17



		18



		19



		20



		21



		22



		23



		24



		25



		26



		27



		28



		29



		30



		31



		32



		33



		34



		35



		36



		37



		38



		39



		40



		41



		42



		43



		44



		45



		46



		47



		48



		49



		50



		51



		52



		53



		54



		55



		56



		57



		58



		59



		60



		61



		62



		63



		64



		65



		66



		67



		68



		69



		70



		71



		72



		73



		74



		75



		76



		77



		78



		79



		80



		81



		82



		83



		84



		85



		86



		87



		88



		89



		90



		91



		92



		93



		94



		95



		96



		97



		98



		99



		100



		101



		102



		103



		104



		105



		106



		107



		108



		109



		110



		111



		112



		113



		114



		115



		116



		117



		118



		119



		120



		121



		122



		123



		124



		125



		126



		127



		128



		129



		130



		131



		132



		133



		134



		135



		136



		137



		138



		139



		140



		141



		142



		143



		144



		145



		146



		147



		148



		149



		150



		151



		152



		153



		154



		155



		156



		157



		158



		159



		160



		161



		162



		163



		164



		165



		166



		167



		168



		169



		170



		171



		172



		173



		174



		175



		176



		177



		178



		179



		180



		181



		182



		183



		184



		185



		186



		187



		188



		189



		190



		191



		192



		193



		194



		195



		196



		197



		198



		199



		200



		201



		202



		203



		204



		205



		206



		207



		208



		209



		210



		211



		212



		213



		214



		215



		216



		217



		218



		219



		220



		221



		222



		223



		224



		225



		226



		227



		228



		229



		230



		231



		232











OEBPS/OEBPS/images/tp.png
AQA

NoTEs ™ A-level
ECONOMICS
3RD EDITION

David Horner
Steve Stoddard

{+ HODDER
7 EDUCATION
AN HACHETTE UK COMPANY





OEBPS/OEBPS/images/26-3.png





OEBPS/OEBPS/images/27-2.png
0
PED =——=0.0
+10





OEBPS/OEBPS/images/26-4.png
(a) Inelastic segment of a (b) Elastic segment of a

demand curve demand curve
K K
a & 1000
900 .
200 -~ i |
100 - |
0 100120 0 1000 2000

Quantity sold per week Quantity sold per week





OEBPS/OEBPS/images/27-3.png
Price per unit

Perfectly inelastic
demand (PED = 0)

Perfectly elastic
demand (PED =eo)

\ Unitary
elasticity

of demand

Quantity demanded per week





OEBPS/OEBPS/images/29-1.png
percentage change in quantity demanded
YED =

percentage change in real income





OEBPS/OEBPS/images/27-4.png
% change in price = % 100 =+22.2% (rounded)

£180





OEBPS/OEBPS/images/29-2.png
20
YED =——=+2.0
+10





OEBPS/OEBPS/images/27-5.png
—0.5m

% change in quantity demanded = %100 =-8.3%

66m





OEBPS/OEBPS/images/29-3.png
YED =——=+0.2
+10





OEBPS/OEBPS/images/rules.jpg





OEBPS/OEBPS/images/24-1.png
wxmon in demand
Extension
wand

€ Demand
curve

Quantity demanded





OEBPS/OEBPS/images/25-1.png
Price per unit (£)

Decrease in
demand

Increase in

Quantity demanded





OEBPS/OEBPS/images/26-1.png
percentage change in quantity demanded
PED =

Dercentage change in price





OEBPS/OEBPS/images/26-2.png





OEBPS/OEBPS/images/27-1.png





